

NO: SO (G)/CASH/ET&N/C.STATIONARY 2016-17 GOVERNMENT OF SINDH EXCISE, TAXATION & NARCOTICS CONTROL DEPARTMENT

Karachi dated 15th May, 2017

To.

The Managing Director, Sindh Public Procurement Regulatory Authority, Government of Sindh,

Karachi

Subject:

HOISTING OF BID EVALUATION REPORT OF NIT NO: SO (G) / CASH / ET&N / C.STATIONARY 2016-17, DATED: 10-04-2017 (SERIAL NO: 32572)

I am directed to refer to the subject noted above and to forward herewith a copy of Minutes of the Meeting of Procurement Committee regarding Technical and Financial Proposals, Technical and Financial Bid Evaluation Reports and Comparative Statements.

2. You are requested to kindly hoist the same on the Website of SPPRA, Karachi.

SECTION OFFICER (GENERAL)
EXCISE, TAXATION & NARCOTICS
CONTROL DEPARTMENT

ENCL: AS ABOVE

Copy to:

- 1. The Chairman/Members of Procurement Committee.
- 2. P.S to Secretary Excise, Taxation & Narcotics Control, Karachi.
- 3. P.A to A.S (Admin-I), Excise, Taxation & Narcotics Control, Karachi.
- P.A to D.S (Admin-I), Excise, Taxation & Narcotics Control, Karachi.

568



GOVERNMENT OF SINDH EXCISE, TAXATION & NARCOTICS CONTROL DEPARTMENT

BID EVALUATION REPORT

1. Name of Procuring Agency:

Excise, Taxation and Narcotics Control Department

2. Tender Reference No:

SO (G)/ DDO/CASH/E&T/C.S/Tender/2016-17

3. Tender Description/Name of Work/Item: Procurement of Computer Stationary

4. Method of Procurement:

Single Stage Two Envelops

5. Tender Advertisement:

Daily Jang, Urdu, Dated 14-04-2017.

Daily Express Tribune, English Dated 14-04-2017.

Daily Kawish, Sindhi Dated 15-04-2017.

6. Advertisement Reference No:

INF/KRY NO. 1941 / 2017

7. SPPRA Serial No:

SPPRA S. No. 32572, dated: 10-04-2017

8. Total Bid documents Sold:

Seven (07) Bid Documents Sold

9. Total Bids Received: Six

Six (06) Bids Received

10. Technical Bid Opening date:

27-04-2017 at 02:30 PM

11. No. of Bid technically qualified:

(06) Bids

12. Bid(s) Rejected:

NIL

13. Financial Bid Opening date:

09-05-2017 at 12:00 Noon

Page 1 of 2

14. Bid Evaluation Report:

S. No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of Cost	Comparison with Estimated Cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3	4	5	6
1.	M/s. Global Enterprises	13,144,530.00	N/A	N/A	Successful as firm has been declared responsive & technically qualified on the criteria given in bidding documents	ACCEPTED
2.	M/s. Owais Enterprises	14,888,880.00	N/A	N/A	Successful as firm has been declared responsive & technically qualified on the criteria given in bidding documents	ACCEPTED
3.	M/s. Trade Targets	13,324,610.00	N/A	N/A	Successful as firm has been declared responsive & technically qualified on the criteria given in bidding documents	ACCEPTED
4.	M/s. Sashun International	5,488,710.00	N/A	N/A	Successful as firm has been declared responsive & technically qualified on the criteria given in bidding documents	ACCEPTED
5.	M/s. Hayat Computers	13,105,130.00	N/A	N/A	Successful as firm has been declared responsive & technically qualified on the criteria given in bidding documents	ACCEPTED
6.	M/s. Computer Circle	14,404,330.00	N/A	N/A	Successful as firm has been declared responsive & technically qualified on the criteria given in bidding documents	ACCEPTED

JMZ_

(MAHESH LAL DODANI) (MEMBER)

Deputy Secretary (Admin-I) Excise, Taxation and Narcotics Control Department

(MUSSARAT MOKHTAR) (MEMBER)

Deputy Director Industries & Commerce Department (MUHAMMAD ISMATL JOYO) (MEMBER / SECRETARY)

Section Officer (General)
Excise, Taxation and Narcotics
Control Department

(JAVED AKBAR MANGI) (MEMBER)

Video Conferencing Officer Information, Science & Technology Department

(CHAIRMAN)

Additional Secretary (Admin-I) Excise, Taxation and Narcotics Control Department



NO: SO(G)/CASH/ETENC/C. STATIONARY, /2016-17 GOVERNMENT OF SINDH EXCISE, TAXATION & NARCOTICS CONTROL DEPARTMENT

Karachi, dated the 09th May, 2017

Subject:

MINUTES OF THE PROCUREMENT COMMITTEE MEETING FOR OPENING OF FINANCIAL PROPOSALS FOR PROCUREMENT OF COMPUTER STATIONERY

A Meeting for opening of Bids for Procurement of Computer Stationary was held on Tuesday, 09th May, 2017 at 12:00 Noon under the chairmanship of Chairman Procurement Committee / Additional Secretary (Admn-I) at Committee Room 2nd Floor, Tughlaq House in order to undertake the Financial Proposals of M/S. Hayat Computers, M/S. Global Enterprises, M/S. Owais Enterprises, M/S. Trade Targets, M/S. Computer Circle and M/S. Sashun International who were qualified in Technical Proposal after scrutiny / evaluation. (Lists of Participant attached)

- 2. The Bids were opened on scheduled time at 12:00 Noon in presence of the representatives above mentioned firms/companies (except M/S. Sashun International whose representative was not present). The price/rates quoted by the qualified Bidders were read out and encircled by the Chairman of the Procurement Committee. The Committee Members signed the Financial Proposals opened on the occasion, which do not contain any over-writing or cutting etc.
- The Comparative Statement was prepared (*Annexure-A*). The Procurement Committee Members on the occasion suggested that in in cases where there was only a single bid, quotations from three (3) different vendors be obtained and ensured that the quoted rates are in-line with the market which was approved by the Procurement Committee.
- 4. Subsequently, market rates of all the single bid items were obtained from 03 vendors and wherever the single bid was the lowest it was accepted. (Price Comparison along with Three (03) quotations is attached with Minutes at Annexure-B)

5. Consequently, the Procurement Committee recommended all firms/companies on the basis of Comparative Statement for further processing as per SPPRA Rules, 2010 and final approval of Competent Authority.

Dunn

Page 1 of 2

The meeting ended with the vote of thanks to and from the chair.

Signatures of the Committee Members:

(MAHESH LAL DODANI) (MEMBER)

Deputy Secretary (Admin-I)
Excise, Taxation and Narcotics
Control Department

(MUSSARAT MOKHTAR) (MEMBER)

Deputy Director Industries & Commerce Department (MUHAMMAD ISMAIL JOYO) (MEMBER / SECRETARY)

Section Officer (General)
Excise, Taxation and Narcotics
Control Department

(JAVED AKBAR MANGI) (MEMBER)

Video Conferencing Officer Information, Science & Technology Department

(DR. MUSTAFA SUHAG) (CHAIRMAN)

Additional Secretary (Admin-I) Excise, Taxation and Narcotics Control Department



NO: SO (G)/CASH/ET&N/C.STATIONARY 2016-17 GOVERNMENT OF SINDH EXCISE, TAXATION AND NARCOTICS CONTROL DEPARTMENT

Karachi, dated the 09th May, 2017

ATTENDANCE SHEET

SUBJECT: -PROCUREMENT COMMITTEE MEETING FOR THE OPENING AND EVALUATION OF FINANCIAL PROPOSALS OF THE TENDER BIDS FOR PROCUREMENT OF COMPUTER STATIONARY

s. No	NAME AND DESIGNATION	DEPARTMENT	SIGNATURE
1.	Dr: Rusiefa Sahag And houl Kersty	ETONE	nun_
9	Tavel Akbar Maugi	·Video Confessioning Engin ers	Deur .
3.	Makesh Lol Dis,	在久丁	(3)
4_	MUSARRAT MORHTAR	Indulisi dylli	A.
5.	Melammed Ismail	ETENC	an's
*)	*	•	•



NO: SO (G)/CASH/ET&N/C.STATIONARY 2016-17 GOVERNMENT OF SINDH EXCISE, TAXATION AND NARCOTICS CONTROL DEPARTMENT

Karachi, dated the 09th May, 2017

ATTENDANCE SHEET

SUBJECT: -FOR BIDDER AGAINST THE TENDER FOR PURCHASE OF COMPUTER STATIONERY (FINANCIAL PROPOSAL OPENING)

			9
S. No	COMPANY NAME	REPRESENTATIVE NAME AND CONTACT NO.	SIGNATURE
61	Colobel Enterprises	Sup. Amond Socrook	n-
03	OWIS BRICKA	WASOL 5 03458201891	mon
03.	Frade Tongels	Syed Ali Raza. 0300-8255906	Mirez - 2
04	Competer Circle.	Davish AU Illur. 0311-9190728	Jaist
05	HAYAT COMPUTERS	Zubair Ali 030-8932389	

TENDER TITLE: ADVERTIEMENT NO. DATE OF OPENING: PURCHASE OF COMPUTER STATIONARY INF/KRY NO. 1941 / 2017 09-05-2017

(ANNEXURE-A)

COMPARATIVE STATEMENT

									Quoted Rates							
S.No	ITEMS	Qty	Location	M/s. Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualified Bidder
1	Laser Paper (A4 Size)	300	DG, Excise & Taxation,								-	550	165,000	620	186,000	M/s. Hayat Computers
2	Laser Paper (Legal Size) White	300	DG, Excise & Taxation,		-	710	213,000			690	207,000		-	740	222,000	M/s. Sashun International
3	Laser Paper (Legal Size) Green	50	DG, Excise & Taxation,		-				-	690	34,500		-	740	37,000	M/s. Sashun International
4	Printer Toner HP-P1102 (85A)	30	DG, Excise & Taxation,	10,500	315,000		-		*				(*)	10,900	327,000	M/s. Global Enterprises
5	Printer Toner HP-1005 (35A)	3	DG, Excise & Taxation,	7,800	23,400	7,930	23,790	7,800	23,400		*:		-	8,200	24,600	M/s. Trade Targets
6	Printer Toner HP-1018 (35A)	10	DG, Excise & Taxation,	7,800	78,000	7,930	79,300	7,800	78,000			10,750	107,500	8,200	82,000	M/s. Trade Targets
7	Printer Toner HP-1020	25	DG, Excise & Taxation,	11,500	287,500				-				-	11,800	295,000	M/s. Global Enterprises
8	Mouse for PCs -	25	DG, Excise & Taxation,		(·	980	24,500					950	23,750	1,000	25,000	M/s. Hayat Computers
9	Key Boards for PCs	40	DG, Excise & Taxation,			980	39,200		-		-	950	38,000	1,000	40,000	M/s. Hayat Computers
10	USB Flash Drives (16-GB)	50	DG, Excise & Taxation,		-	1,120	56,000		-		ž		-	1,200	60,000	M/s. Owais Enterprises
11	USB Flash Drives (8-GB)	20	DG, Excise & Taxation,			750	15,000	780	15,600		•	800	16,000	800	16,000	M/s. Owais Enterprises
12	DVDs: Writeable	8	DG, Excise & Taxation,		-	60	480		*		-	50	400	60	480	M/s. Hayat Computers
13	Toner for Photo Copiers	3	DG, Excise & Taxation,		-	21,500	64,500		-				-	22,300	66,900	M/s. Owais Enterprises
14	Developer for Photo Copier	20	DG, Excise & . Taxation,				-				-	21,500	430,000	22,400	448,000	M/s. Hayat Computers
15	Paper Roles for FAX	450	DG, Excise & Taxation,		-				-	950	427,500		-	1,000	450,000	M/s. Sashun International
16	Plain Paper A-4 80 GRAM	50	Director Taxes-I		-		-		-			550	27,500	590	29,500	M/s. Hayat Computers
17	Plain Paper Legal Size 80 GRAM	4	Director Taxes-I		-	710	2,840	708	2,832	690	2,760	725	2,900	730	2,920	M/s. Sashun International
18	Toner for HP 2035 05-A	4	Director Taxes-I	12,500	50,000	12,725	50,900		-		-	12,745	50,980		-	M/s. Global Enterprises
19	Toner for HP 1120 36-A	20	Director Taxes-I							10,500	210,000					M/s. Sashun International

N

Quel

1

Page 1 of 10

									Quoted Rates							
S.No	ITEMS	Qty	Location	M/s. Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualified Bidder
20	Toner for HP P1102 85-A	10	Director Taxes-I	10,500	105,000	10,700	107,000		-		-				-	M/s. Global Enterprises
21	Toner for HP 1320 49-A	4	Director Taxes-I	12,500	50,000	12,725	50,900		-		-	12,730	50,920		-	M/s. Global Enterprises
22	Toner for Photocopier	2	Director Taxes-I	21,520	43,040	21,500	43,000	21,680	43,360		-		-	22,500	45,000	M/s. Owais Enterprises
23	Developer for Photocopier	6	Director Taxes-I		-		-		- 1		-	21,500	129,000	22,500	135,000	M/s. Hayat Computers
24	Keyboards	100	Director Taxes-I		-		-		-		-	950	95,000	1,000	100,000	M/s. Hayat Computers
25	Mouse	50	Director Taxes-I		-		-		-		-	950	47,500	1,000	50,000	M/s. Hayat Computers
26	USB 16 GB	50	Director Taxes-I		-	1,150	57,500		-					1,200	60,000	M/s. Owais Enterprises
27	DVD Blank Discs Good Quality with Case	24	Director Taxes-I		-	60	1,440		-			50	1,200	65	1,560	M/s. Hayat Computers
28	Ram DDR III 02 GB/Compatible	24	Director Taxes-I		n	4,500	108,000		-	¥:		4,700	112,800	5,000	120,000	M/s. Owais Enterprises
29	Ram DDR II 02 GB/Compatible	1	Director Taxes-I		-	4,500	4,500	4,680	4,680			4,700	4,700	5,000	5,000	M/s. Owais Enterprises
30	External HD 500 GB	10	Director Taxes-I		÷.		-		-		-	14,500	145,000	15,000	150,000	M/s. Hayat Computers
31	Mouse Pads	100	Director Taxes-I		<u> </u>				- 1			250	25,000	300	30,000	M/s. Hayat Computers
32	RJ-45 Connectors	2	Director Taxes-I	1,025	2,050	1,000	2,000	1,100	2,200				-	1,200	2,400	M/s. Owais Enterprises
33	Screw Drivers Set	12	Director Taxes-I	2,530	30,360	2,500	30,000	2,570	30,840		2	2,715	32,580	2,520	30,240	M/s. Owais Enterprises
34	Cable Cutter	10	Director Taxes-I		-	3,700	37,000		-		2	3,500	35,000	3,700	37,000	M/s. Hayat Computers
35	Electric Tape	1	Director Taxes-I		-		-		-		-	35	35	60	60	M/s. Hayat Computers
36	LAN Tester	10	Director Taxes-I			2,570	25,700		-		-	2,500	25,000	2,800	28,000	M/s. Hayat Computers
37	4 Point Switch Linksys or Equivalent	100	Director Taxes-I		-		7-0		-		-	7,850	785,000	8,000	800,000	M/s. Hayat Computers
38	Ethernet Cable Cat-5 (Boxes)	20	Director Taxes-I		(. +)		•		-			25,000	500,000	26,000	520,000	M/s. Hayat Computers
39	VGA Cables 01 Meter	20	Director Taxes-I	270	5,400	250	5,000		-					300	6,000	M/s. Owais Enterprises

1

Quint

1

the same

age 2 of 10

nunu

									Quoted Rates							
S.No	ITEMS	Qty	Location	M/s. Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualified Bidder
40	Printer Cables 01 Meter	20	Director Taxes-I		-	270	5,400	300	6,000	250	5,000			300	6,000	M/s. Sashun International
41	Patch Cods 05 Meter	20	Director Taxes-I		-	475	9,500		-	250	5,000	450	9,000	500	10,000	M/s. Sashun International
42	Power Extension Boards	2	Director Taxes-I		-	1,545	3,090		-		-	1,500	3,000	1,700	3,400	M/s. Hayat Computers
43	Portable DVD/CD Drive	10	Director Taxes-I				-		-			14,000	140,000	60	600	M/s. Hayat Computers
44	Network Interface Card/ Compatible	5	Director Taxes-I		•	1,570	7,850		-		-	1,500	7,500	1,800	9,000	M/s. Hayat Computers
45	Vacuum Cleaner for PC 2000 watt	6	Director TAXES-II	9,875	59,250	9,850	59,100		· *		-			10,000	60,000	M/s. Owais Enterprises
46	Cisco 24 Port Network Switch 2900 Series	10	Director TAXES-II						-		-	65,000	650,000	70,000	700,000	M/s. Hayat Computers
47	5 Port Network Switches	40	Director TAXES-II		-				•	•		12,450	498,000	13,000	520,000	M/s. Hayat Computers
48	USB Flash Stick Kingston 16 GB	2	Director TAXES-II	- 1,145	2,290	1,120	2,240	1,160	2,320	-		1,400	2,800	1,200	2,400	M/s. Owais Enterprises
49	External Disk Drive 500 GB	6	Director TAXES-II			14,120	84,720		-		٠	14,500	87,000	15,000	90,000	M/s. Owais Enterprises
50	Cat 6 Cable Clipsal- Full copper Box	2	Director TAXES-II		-	27,120	54,240		-		~	25,000	50,000	26,000	52,000	M/s. Hayat Computers
51	Clamper RJ45 /11/9	10	Director TAXES-II			1,070	10,700				•	1,000	10,000	1,200	12,000	M/s. Hayat Computers
52	Cables Tester RJ 45 /11/9	2	Director TAXES-II			3,800	7,600		•			3,500	7,000	4,000	8,000	M/s. Hayat Computers
53	External DVD writer	1	Director TAXES-II			8,300	8,300		-			8,000	8,000	9,000	9,000	M/s. Hayat Computers
54	Electric Blower	24	Director TAXES-II		-				-		-	12,500	300,000	13,100	314,400	M/s. Hayat Computers
55	Toner Cartage for Laser Printers HP 2055	12	Director TAXES-II	12,500	150,000	12,725	152,700		-		-	12,745	152,940		-	M/s. Global Enterprises

2

(dum)

Page 3

mun

									Quoted Rates							
S.No	ITEMS	Qty	Location	M/s. Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualifie Bidder
56	Toner Cartages for (HP 1020)	25	Director TAXES-II	11,500	287,500		-									M/s. Global Enterprises
57	Paper A4 Size (Rims)	100	Director TAXES-II		-		-				-	550	55,000	600	60,000	M/s. Hayat Computers
58	Paper F4 Size (Rims)	50	Director TAXES-II		-	710	35,500		-	690	34,500			730	36,500	M/s. Sashun International
59	Patch Cord - 3 feet Clipsol /Equivalent	60	Director TAXES-II		-	475	28,500					450	27,000	500	30,000	M/s. Hayat Computers
60	Patch Cord - 10 feet Clipsol /Equivalent	50	Director TAXES-II						-			750	37,500	800	40,000	M/s. Hayat Computers
61	Sony CDs Writable / Rewritable	50	Director TAXES-II			60	3,000		4		-	50	2,500	60	3,000	M/s. Hayat Computers
62	Sony DVD Writable / Rewritable	3200	DIRECTOR HYDERABAD		-		-				::=	50	160,000	60	192,000	M/s. Hayat Computers
63	Paper Legal	3350	DIRECTOR HYDERABAD		-			-	-	690	2,311,500		-		-	M/s. Sashun International
64	Paper A-4 Size	5000	DIRECTOR HYDERABAD		-41		-				•	550	2,750,000			M/s. Hayat Computers
65	Paper 9 1/2 x 11 for LQ-2180	700	DIRECTOR HYDERABAD		-						•	850	595,000	980	686,000	M/s. Hayat Computers
66	Toners for HP 1020	325	DIRECTOR HYDERABAD	11,500	3,737,500		-									M/s. Global Enterprises
67	Ribbon for IBM 6500	200	DIRECTOR HYDERABAD		-	4,000	800,000		7.							M/s. Owais Enterprises
68	Ribbon for Line Printer P7215	700	DIRECTOR HYDERABAD		•	5,000	3,500,000							5,800	4,060,000	M/s. Owais Enterprises
69	Toners for HP 1005	1500	DIRECTOR HYDERABAD	-	1 .		-	7,680	11,520,000		-		-			M/s. Trade Targets

h/

Quinnel

Page 4 of 10

									Quoted Rates]
S.No	ITEMS	Qty	Location	M/s, Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualified Bidder
70	Ribbons for LQ-300	2000	DIRECTOR HYDERABAD		-	550	1,100,000				-		-			M/s. Owais Enterprises
71	Ribbons for LQ-2180	40	DIRECTOR MIRPURKHAS		-	950	38,000	993	39,720		*	1,000	40,000			M/s. Owais Enterprises
72	Computer Paper (80 Columns)	250	DIRECTOR MIRPURKHAS		-						-	950	237,500			M/s. Hayat Computers
73	Laser Paper A4	200	DIRECTOR MIRPURKHAS		-		-					550	110,000	600	120,000	M/s. Hayat Computers
74	Laser Paper Legal	9	DIRECTOR MIRPURKHAS			710	6,390		-	690	6,210	725	6,525	730	6,570	M/s. Sashun International
75	Printer Ribbons (LQ-300+II)	4	DIRECTOR MIRPURKHAS		-	590	2,360	565	2,260	550	2,200			600	2,400	M/s. Sashun International
76	Printer Ribbons (LQ-2090)	18	DIRECTOR MIRPURKHAS		-			980	17,640	950	17,100					M/s. Sashun International
77	Mouse's	18	DIRECTOR MIRPURKHAS		1.5	980	17,640		-		-	950	17,100	1,000	18,000	M/s. Hayat Computers
78	Kéyboards	21	DIRECTOR MIRPURKHAS			980	20,580					950	19,950	1,000	21,000	M/s. Hayat Computers
80	H.P Laser Jet Tonner (P1102 -Wi- fi)	14	DIRECTOR MIRPURKHAS	10,500	147,000		-		-		-	10,750	150,500		-	M/s. Global Enterprises
81	U.S.B Flash Drives (32 - G.B)	14	DIRECTOR MIRPURKHAS			2,250	31,500		-		-		*	2,500	35,000	M/s. Owais Enterprises
82	Ethernet Straight Cat-6 Bundle of 1000 Ft	. 4	DIRECTOR MIRPURKHAS						-		-	25,000	100,000	28,000	112,000	M/s. Hayat Computers
83	LAN Tester	45	DIRECTOR MIRPURKHAS		•	2,570	115,650				-	2,500	112,500	3,000	135,000	M/s. Hayat Computers
84	Papers Rims for Laser Jet Printer	300	DIRECTOR MIRPURKHAS		-					2		950	285,000	600	180,000	M/s. Computer Circle
85	Papers Rims for Dot Matrix Printer	200	DIRECTOR S. BENAZIRABAD	1	-		-		-		-	1,120	224,000			M/s. Hayat Computers

Quin

Page 5 of 10

e Muun

									Quoted Rates							
S.No	ITEMS	Qty	Location	M/s. Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualified Bidder
86	Tuner of Laser Jet Printer P1102	35	DIRECTOR S. BENAZIRABAD	10,500	367,500					8						M/s. Global Enterprises
87	Ribbon for Dot Matrix Printer	150	DIRECTOR S. BENAZIRABAD			950	142,500				-					M/s. Owais Enterprises
88	USB Devises 50 GB	50	DIRECTOR S. BENAZIRABAD		-	2,250	112,500				-		-		-	M/s. Owais Enterprises
89	Key Boards	50	DIRECTOR S. BENAZIRABAD		-	980	49,000				-	950	47,500	1,000	50,000	M/s. Hayat Computers
90	Mouse	215	DIRECTOR S. BENAZIRABAD			980	210,700					950	204,250	1,000	215,000	M/s. Hayat Computers
91	Paper A4 Size	1100	DIRECTOR S. BENAZIRABAD		14		-					550	605,000			M/s. Hayat Computers
92	Paper Legal Size Rims	1600	DIRECTOR SUKKUR	• • •	-		-			690	1,104,000					M/s. Sashun International
93	Paper A4 Dot Matrix 80 columns	200	DIRECTOR SUKKUR	-					-			850	170,000			M/s. Hayat Computers
94	Ribbon Printer Epson (LQ 300+11)	300	DIRECTOR SUKKUR		•	550	165,000		-		4		-			M/s. Owais Enterprises
95	Ribbon Printer Epson (LQ 2180)	100	DIRECTOR SUKKUR		-	950	95,000		2			1,000	100,000	1,000	100,000	M/s. Owais Enterprises
96	Toner Cartage HP Laser Jet P1005	50	DIRECTOR SUKKUR	7,800	390,000		-	7,800	390,000		la la				2=	M/s. Trade Targets
97	Toner Cartage of HP 1020	100	DIRECTOR SUKKUR	11,500	1,150,000		(=).		-		(4		-		2=	M/s. Global Enterprises
98	Toner Cartage HP Laser Jet P1102	100	DIRECTOR SUKKUR	10,500	1,050,000		-		-				-		-	M/s. Global Enterprises
99	Laser Paper (A4 Size)	200	DIRECTOR SUKKUR		-		-		-			550	110,000		-	M/s. Hayat Computers
100	Paper F4 Size (Rims)	250	DIRECTOR LARKANA		-		-		-	690	172,500		-		-	M/s. Sashun International
101	Laser Paper (Legal Size) Green	20	DIRECTOR LARKANA			710	14,200		-	690	13,800	725	14,500		-	M/s. Sashun International
102	Printer Toner HP Laser Jet-P1102 (85A)	20	DIRECTOR LARKANA	10,500	210,000		-		-	10	-		-			M/s. Global Enterprises
103	Printer Toner HP Laser Jet-1005 (35A)	20	DIRECTOR LARKANA	7,800	156,000	7,930	158,600	7,800	156,000		-		-			M/s. Trade Targets
104	Printer Toner HP-1020 (12-A)	20	DIRECTOR LARKANA	11,500	1 230,000	11,685	233,700		-	()			-		-	M/s. Global Enterprises

Quint

Page 6 o

mun

									Quoted Rates							
S.No	ITEMS	Qty	Location	M/s. Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualified Bidder
105	Printer Toner for HP 2035 (05-A)	20	DIRECTOR LARKANA	12,500	250,000				-							M/s. Global Enterprises
106	Printer Toner for HP 1120 (36-A)	20	DIRECTOR LARKANA		-					10,500	210,000				-	M/s. Sashun International
107	Printer Toner for HP 1320 (49-A)	10	DIRECTOR LARKANA	12,500	125,000	12,725	127,250		-			12,730	127,300		-	M/s. Global Enterprises
108	Mouse for PCs	10	DIRECTOR LARKANA				-		-			950	9,500	1,000	10,000	M/s. Hayat Computers
109	Mouse Pads	10	DIRECTOR LARKANA				-				-	250	2,500	300	3,000	M/s. Hayat Computers
110	Key Boards for PCs	50	DIRECTOR LARKANA		-		-		120			950	47,500	1,000	50,000	M/s. Hayat Computers
111	USB Flash Drives (8-GB)	40	DIRECTOR LARKANA		-	750	30,000		-		-		-	800	32,000	M/s. Owais Enterprises
112	USB Flash Drives (16-GB)	6	DIRECTOR LARKANA		-	1,120	6,720	1,160	6,960		-	1,400	8,400	1,200	7,200	M/s. Owais Enterprises
113	External HD 500 GB	6	DIRECTOR LARKANA		-		-		-	1000		14,500	87,000	15,000	90,000	M/s. Hayat. Computers
114	DVDs: Writeable	500	DIRECTOR LARKANA			60	30,000			-		50	25,000	60	30,000	M/s. Hayat Computers =
115	DVD Blank Discs	500	DIRECTOR LARKANA		-	60	30,000			(6)		50	25,000	60	30,000	M/s. Hayat Computers
116	Sony CDs Writable / Rewritable	500	DIRECTOR LARKANA		-	60	30,000		+		-	50	25,000	60	30,000	M/s. Hayat Computers
117	Sony DVD Writable / Rewritable	500	DIRECTOR LARKANA		-	60	30,000		*		•	50	25,000	60	30,000	M/s. Hayat Computers
118	Power Extension Boards	65	DIRECTOR LARKANA						-			1,500	97,500	2,000	130,000	M/s. Hayat Computers
119	Laser Paper (A4 Size)	550	DIRECTOR LARKANA				-		-			550	302,500		-	M/s. Hayat Computers
120	Paper F4 Size (Rims)	300	SECRETARIAT, KARACHI							690	207,000					M/s. Sashun International
121	Laser Paper (Legal Size) Green	50	SECRETARIAT, KARACHI							690	34,500					M/s. Sashun International
122	Printer Toner HP Laser Jet-P1102 (85A)	35	SECRETARIAT, KARACHI	10,500	367,500		-		-	dir.	-		-		-	M/s. Global Enterprises
123	Printer Toner HP Laser Jet-1005 (35A)	40	SECRETARIAT, KARACHI	7,800	312,000		-	7,800	312,000				4		-	M/s. Trade Targets
124	Printer Toner HP-1020 (12-A)	35	SECRETARIAT, KABACHI	11,500	402,500	^	- Pag A of		-	-						M/s. Global Enterprises

Quent

mun

									Quoted Rates							
S.No	ITEMS	Qty	Location	M/s. Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualified Bidder
125	Printer Toner for HP 2035 (05-A)	30	SECRETARIAT, KARACHI	12,500	375,000				1-							M/s. Global Enterprises
126	Printer Toner for HP 1120 (36-A)	40	SECRETARIAT, KARACHI		-				-	10,500	420,000		-		-	M/s. Sashun International
127	Printer Toner for HP 1320 (49-A)	50	SECRETARIAT, KARACHI	12,500	625,000				-		*					M/s. Global Enterprises
128	Mouse for PCs	50	SECRETARIAT, KARACHI						-		-	950	47,500	1,000	50,000	M/s. Hayat Computers
129	Mouse Pads	50	SECRETARIAT, KARACHI		-	980	49,000		-		-	250	12,500	300	15,000	M/s. Hayat Computers
130	Key Boards for PCs	50	SECRETARIAT, KARACHI		(4)	990	49,500		-		-	950	47,500	1,000	50,000	M/s. Hayat Computers
131	USB Flash Drives (8-GB)	50	SECRETARIAT, KARACHI			750	37,500		-		-			800	40,000	M/s. Owais Enterprises
132	USB Flash Drives (16-GB)	24	SECRETARIAT, KARACHI			1,120	26,880		-		-			1,200	28,800	M/s. Owais Enterprises
133	External HD 500 GB	12	SECRETARIAT, KARACHI				-				-	14,500	174,000	15,000	180,000	M/s. Hayat Computers
134	DVDs: Writable / Rewritable	2000	SECRETARIAT, KARACHI				-		-		-	50	100,000	60	120,000	M/s. Hayat Computers
135	DVD Blank Discs	2000	SECRETARIAT, KARACHI		(*)		-		1.		-	50	100,000	60	120,000	M/s. Hayat Computers
136	Sony CDs Writable / Rewritable	2000	SECRETARIAT, KARACHI				-				-	50	100,000	60	120,000	M/s. Hayat Computers
137	Sony DVD Writable / Rewritable	2000	SECRETARIAT, KARACHI				-		l l		*	50	100,000	60	120,000	M/s. Hayat Computers
138	Toner for Photo Copiers KM-4050	36	SECRETARIAT, KARACHI		-	21,500	774,000		-1		-				-	M/s. Owais Enterprises
139	Toner for Photo Copiers Rihco MP 3025	36	SECRETARIAT, KARACHI			21,500	774,000		-		-					M/s. Owais Enterprises

N

Quint

Page

mum

			T						Quoted Rates							
S.No	ITEMS	Qty	Location	M/s. Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualified Bidder
140	Printer Cables 3 Meter	36	SECRETARIAT, KARACHI			270	9,720		٠	250	9,000		-	400	14,400	M/s. Sashun International
141	Power Cods 5 Meter	12	SECRETARIAT, KARACHI		-			300	3,600	250	3,000	250	3,000	500	6,000	M/s. Sashun International
142	Power Extension Boards 10 Ft	50	SECRETARIAT, KARACHI			1,575	78,750				-	1,500	75,000	2,000	100,000	M/s. Hayat Computers
143	Developer for Photo Copier	12	SECRETARIAT, KARACHI		-						-	21,500	258,000	22,000	264,000	M/s. Hayat Computers
144	Paper Roles for FAX Panasonic KX FP702	50	SECRETARIAT, KARACHI		-	980	49,000	975	48,750	950	47,500		-	1,000	50,000	M/s. Sashun International
145	Ribbon for IBM 6500	300	DIRECTOR ADMIN / MVR			4,000	1,200,000		Ši.		-		-		9	M/s. Owais Enterprises
146	Ribbon for Printronix P7215	400	DIRECTOR ADMIN / MVR		-	5,000	2,000,000		-		-				-	M/s. Owais Enterprises
147	Toner for HP P1102 85-A	20	DIRECTOR ADMIN / MVR	10,500	210,000	**	*		-							M/s. Global Enterprises
148	Toner for HP P2055 05-A	75	DIRECTOR ADMIN / MVR	12,500	937,500				-		-		-		91	M/s. Global Enterprises
149	Toner for HP P1005 36-A	75	DIRECTOR ADMIN / MVR	7,800	585,000			7,800	585,000		-		-		-	M/s. Trade Targets
150	Ribbons for LQ-300	750	DIRECTOR ADMIN / MVR			550	412,500				-					M/s. Owais Enterprises
151	Ribbons for LQ-2180	750	DIRECTOR ADMIN / MVR		-	950	712,500				75		-			M/s. Owais Enterprises
152	Laser Paper (A4 Size)	25	DIRECTOR ADMIN / MVR		-	610	15,250				-	550	13,750			M/s. Hayat Computers
153	Paper F4 Size (Rims)	6	DIRECTOR ADMIN / MVR			715	4,290	708	4,248	690	4,140	725	4,350		-	M/s. Sashun International
154	Cat 6 Cable Clipsal- Full Copper Box STP	8	DIRECTOR ADMIN / MVR) -				-		•	25,000	200,000	26,500	212,000	M/s. Hayat Computers

6

amust.

Page 9 of 10

mun

			Qty	Location													
S.No	.No	ITEMS			M/s. Global Enterprises	Total	M/s. Owais Enterprises	Total	M/s. Trade Targets	Total	M/s. Sashun International	Total	M/s. Hayat Computers	Total	M/s. Computer Circle	Total	Name of Qualified Bidder
1	55	Cisco 24 Port Network Switch 2900 Series	2	DIRECTOR ADMIN / MVR			3,500	7,000		-			65,000	130,000	70,000	140,000	M/s. Owais Enterprises
1	56	UPS 1000 VA Dry Cell Batteries	8	DIRECTOR ADMIN / MVR	3,530	28,240			3,650	29,200		-					M/s. Global Enterprises
				Total I	Bidding Cost	15,144,530		14,888,880		13,324,610		5,488,710		13,105,130		14,404,330	
		_		Ea	rnest Money	/395,000.00		447,000		400,000		/164,500		393,154		432,130	

MAHESH LAL DODANI Deputy Secretary (ADMN) Excise, Taxation and Narcotics Control Department

(MEMBER)

MUHAMMAD ISMAIL JOYO Section Officer (General) Excise, Taxation and Narcotics Control Department (MEMBER/SECRETARY) JAVED AKBAR MANGI Video Conferencing Officer Information, Science & Technology Department (MEMBER) MUSARRAT MOKHTAR
Deputy Director
Industries and Commerce
Department
(MEMBER)

DR. MUSTAFA SUHAG Additional Secretary (ADMN) Excise, Taxation and Narcotics Control Department (CHAIRMAN)

TENDER FOR SUPPLY OF COMPUTER STATIONERY

QUALIFICATION & TECHNICAL EVALUATION CRITERIA

								D	escription	1							
S No	Name of Bidder(s)	NTN and GST Registration	SST Registration from Sindh Revenue Board.	Relevant Experience of Last Five (05) Years.	Experience of Supplying similar product in Govt/Private Institutions with documentary evidence	Capability of work in different locations/areas of Sindh for Supply & support activities.	Clients List	Satisfactory Performance Certificates from Minimum 5 users	Bank Statement	Audited Financial Statements	An Under- taking on Stamp Paper	Company Profile	Documentary Proof about the firm's Strength & Field Expertise.	Purchase/Work Orders/Agree- ments for Supplies of Computer Stationery and Computer Accessories Products	Submitted List of Similar Nature Projects In- Hand	Authorized Representative Certificate	REMARKS
• 0	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17
1	M/s. Global Enterprises	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED
2	M/s. Hayat Computer	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED
3	M/s. Computer Circle	Yes	No	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED
4	M/s. Trade Targets	Yes	No	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes -	Yes	Yes	Yes	Yes	QUALIFIED
5	M/s. Sashun International	Yes	No	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED
6	M/s. Owais Enterprises	Yes	No	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED

MAHESH LAL DODANI Deputy Secretary (ADMN)

Excise, Taxation and Narcotics Control Department

(MEMBER)

MUHAMMAD ISMAIL JOYO

Section Officer (General)

Excise, Taxation and Narcotics

Control Department

(MEMBER/SECRETARY)

JAVED AKBAR MANGI

Video Conferencing Officer

Infornation, Science & Technology

Department (MEMBER) MUSARRAT MOKHTAR

Deputy Director

Industries and Commerce

Department

(MEMBER)

DR. MUSTAFA SUHAG

Additional Secretary (ADMN)

Excise, Taxation and Narcotics

Control Department

(CHAIRMAN)

To: Excise Taxation and Narcotics Control Department
Government of Sindh

Subject: Quotation for Computer Stationery

Date:10 May 2017

Tender Reference No: SOG/Cash/ET&NC/C Stationery/2016-17

Specification & Prices

QTY.	Description of Goods	Unit Price	Value Including with GST
1	HP 36A Toner for 1120 Printer	9,500	11,115
1	Toner for HP 1020	9,375	10,969
1	AA/Paper One Legal Size Paper Ream (500 pages)	620	725
1	HP 12AToner for HP 1020 Printer	9,375	10,969
1	HP Toner for 1005 Laser Jet Printer Paper Ream for Computer (80 Columns)	6,800	7,956
1.	Imported	850	995
1	Paper Ream for Dot Matrix Printer (Epson)	1,015	1,188
1	Ribbon for Dot Matrix Printer	850	995
1	Kingston/Sony 50GB/64GB USB flash Drive	1,980	2,317
1	Paper for Dot Matrix Printer	780	913
1	Ribbon for Epson LQ 300+II	500	585
1	HP 85A Toner for P1102 Printer	9,150	10,706
1	A4 Size Paper (Double AA/ Paper One)	500	585
1	HP 05A Toner for P2035 Printer	11,000	12,870
1	A4 Size Paper (Double AA/ Paper One) ·	500	585
1	Legal Size Paper Ream Green (500 pages)	650	761
1	HP 49A toner for HP 1320A	11,000	12,870
1	Toner for Photocopier KM4050	19300	22,581
1	Toner for Photocopier Ricoh 3025	19500	22,815
1	Ribbon for IBM 6500	3750	4,388
1	Ribbon for Printronics Model 7215	4600	5,382
		Total	142,266

Note : Prices are inclusive of All Taxes

": Delivery Made within week after award of Proper Purchase order.

: Any Change in US\$ Conversion will be Adjust accordingly at the time of Final billing

: One Equipment's Sold will not returned or replaced

Warranty: Above quoted Printers carry one year complete local warranty.

Regards,

If you need any further information, please free to call

For Sales & Support Contact Mohammed Ikram Skype || Prime.com12 Facebook || www.facebook.com/PComputer 0345-3058144

Prime Computers

A-One-Traders

Shop No. 121, Naz Digital Plaza, M.A. Jinnah Road, Karachi Ph No. 021-32720930, Cell No. 0313-2044957

QUOTATION

Date: 10 May 2016

M/S: Excise taxation and Narcotics Control Department

Inquiry reference: SOG/Cash/ET&NC/c Stationery/2016-17

Thank you for the opportunity to quote. We are pleased to quote as follows

Description of Product Unit Price with GST 11,267 HP 36A Toner for 1120 Printer 11,057 Toner for HP 1020 AA/Paper One Legal Size Paper Ream (500 pages) 761 HP 12AToner for HP 1020 Printer 10,998 HP Toner for 1005 Laser Jet Printer 8,190 1,053 Paper Ream for Computer (80 Columns) Imported Paper Ream for Dot Matrix Printer (Epson) 1,287 Ribbon for Dot Matrix Printer 1,053 Kingston/Sony 50GB/64GB USB flash Drive 2,282 936 Paper for Dot Matrix Printer 702 Ribbon for Epson LQ 300+II HP 85A Toner for P1102 Printer 11,115 A4 Size Paper (Double AA/ Paper One) 690 HP 05A Toner for P2035 Printer 13.221 A4 Size Paper (Double AA/ Paper One) 702 Legal Size Paper Ream Green (500 pages). 831 HP 49A toner for HP 1320A 13,104 Toner for Photocopier KM4050 23,985 Toner for Photocopier Ricoh 3025 23,049 Ribbon for IBM 6500 4,680 Ribbon for Printronics Model 7215 5,616

A-Ome Traders

Shop No. 121, Naz Digital Plaza, M.A. Jinnah Road, Karachi Ph No. 021-32720930, Cell No. 0313-2044957

PAYMENT TERMS: After delivery.

DELIVERY: After 1 day of the written confirmation

TAX: Prices are inclusive of all taxes.

Sales Person

Mehtab Qureshi +923003645029

We trust that you will find our quote satisfactory and look forward to working with you. Please contact us should you have any questions at all.





Shop No. GC-24, Techno City, Hasrat Mohani Road, Karachi
Contact us +9221-2632163, +92321-9223134,
Fax +92212632163 Contact@agsystems.com.pk

TO

: Excise Taxation and Narcotics Department Govt of Sindh

DATE

: 10 May 2017

Email: ag129sys@gmail.com

SUBJECT

: Quotation of IT Accessories as per your Tender Inquiry No: SOG/cash/ET&NC/C

Stationery/2016-17

Dear Sir,

With reference to the above captioned subject & your inquiry. I would like to quote you the following Prices for your consideration.

			Prices
		Unit	inclusive of All
Quantity	Description of Goods	Price	taxes
1	HP 36A Toner for 1120 Printer	9,600	11,232
1	Toner for HP 1020	9,500	11,115
	AA/Paper One Legal Size Paper Ream (500		
1	pages)	600	702
1	HP 12AToner for HP 1020 Printer	9,450	11,057
1	HP Toner for 1005 Laser Jet Printer	6,900	8,073
	Paper Ream for Computer (80 Columns)		
1	Imported	870	, 1,018
.1	Paper Ream for Dot Matrix Printer (Epson)	995	1,164
1	Ribbon for Dot Matrix Printer	840	983
1	Kingston/Sony 50GB/64GB USB flash Drive	2,000	2,340
1	Paper for Dot Matrix Printer	800	936
1	Ribbon for Epson LQ 300+II	520	608
1	HP 85A Toner for P1102 Printer	9,300	10,881
1	A4 Size Paper (Double AA/ Paper Qne)	520	608
1	HP 05A Toner for P2035 Printer	10,800	12,636
. 1	A4 Size Paper (Double AA/ Paper One)	530	620
1	Legal Size Paper Ream Green (500 pages)	630	737
1	HP 49A toner for HP 1320A	11,350	13,280
1	Toner for Photocopier KM4050	20000	23,400
1	Toner for Photocopier Ricoh 3025	20200	23,634
1	Ribbon for IBM 6500	3900	4,563
1	Ribbon for Printronics Model 7215	5000	5,850

facebook

/www.facebook.com/AGsystems

2016

Computers | | Accessories | | Software's | | Networking

145,437

Total



Shop No. GC-24, Techno City, Hasrat Mohani Road, Karachi
Contact us +9221-2632163, +92321-9223134,
Fax +92212632163 Contact@agsystems.com.pk

Terms & Conditions:

Delivery:

Please note that the above mentioned equipments are ex-stock available as of today. Delivery of the product is subject to availability at the time of confirmation of the order. Delivery will be made only after this Office receives appropriate Purchase Order.

TAX:

The above-mentioned prices are inclusive of all taxes.

Prices are subject to change without any notice.

If you have any questions please feel free to call our office.

Awaiting your valuable order Regards,

Yasir Gaba

SYSTEMS

Main Chi n Road, Blook-7,

Kehkushan Karaobi.



GOVERNMENT OF SINDH EXCISE, TAXATION & NARCOTICS CONTROL DEPARTMENT

Dated: 04th May 2017

SUBJECT:

MINUTES OF THE MEETING REGARDING THE OPENING OF TECHNICAL BIDS FOR THE TENDER FOR PROCUREMENT OF COMPUTER STATIONARY FOR THE OFFICES OF GOVERNMENT OF SINDH EXCISE, TAXATION & NARCOTICS CONTROL DEPARTMENT

A 2nd Meeting of the Departmental Procurement Committee constituted vide Government of Sindh, Excise, Taxation & Narcotics Control Department's Notification No. SO(G)/(DDO)/ET&NC/C.STATIONARY/2016-17 dated 16th March, 2017 was held on Thursday, 04th May 2017 at 11:00 AM under the Chairmanship of Additional Secretary (ADMN-I), Excise, Taxation and Narcotics Control Department, Government of Sindh, Karachi to scrutinize and evaluate the subject bids.

The following Members of the Procurement Committee attended the meeting:-2.

Chairman Dr. Mustafa Suhag Additional Secretary (ADMN)

Excise, Taxation and Narcotics Control Department

2. Mr. Mahesh Lal Dodani, Member Deputy Secretary, (ADMN) Excise, Taxation and Narcotics Control Department

3. Mr. Muhammad Ismail Joyo Member/Secretary Section Officer General Excise, Taxation and Narcotics Control Department,

4. Mr. Javed Akbar Mangi Member Video Conferencing Officer Information, Science & Technology Department

5. Mr. Mussarat Mokhtar, Member Deputy Director Industries and Commerce Department

3. The Meeting started with the recitation from Holy Quran. The Chairman of the Procurement Committee welcomed the Procurement Committee Members and informed that it was decided in last meeting held on 27th April, 2017 that after examination, scrutiny and evaluation of Technical bids submitted by the above firms as per Bid Evaluation Criteria composition of Criteria for Computer Stationary, names of the successful technically qualified bidders will be announced and the date and time of financial bid opening will be communicated accordingly.

Page 1 of 2

my

- 4. In this connection, the Committee after thoroughly scrutiny, evaluation of the proposals submitted by bidders, prepared detailed report duly signed by the members vide (Annexure-I to II). It was decided to circulate the evaluation report to all concerned and financial bids will be opened in the presence of members of Procurement Committee as well bidders on.
- 5. The Meeting ended with the vote of thanks to and from Chair.

Mr. Mahesh Lal Dodani, Deputy Secretary (Admin-I)

Mr. Mussarat Mokhtar, Deputy Director Industries Department Mr. Muhammad Ismail Joyo, Section Officer (General)

Mr. Javed Akbar Mangi Video Conferencing Officer Information Department

Mr. Mustafa Suhag,
Additional Secretary (Admin-I)
Chairman Procurement Committee

TENDER FOR PURCHASE OF COMPUTER STATIONERY

PRELIMINARY (MANDATORY) SCREENING CRITERIA

				Name of	Bidder(s)		
Sr. No	Description	M/s. Global Enterptises	M/s. Hayat Computer	M/s. Computer Circle	M/s. Trade Targets	M/s. Sashun Internation al	M/s. Owais Enterprises
1	Are Both Envelopes Sealed? (Technical & Financial)	Yes	Yes	Yes	Yes	Yes	Yes
ŧ	Are Envelopes properly typed as prescribed in clause 12.6 & 12.8?	Yes	Yes	Yes	Yes	Yes	Yes
3	Is Tender Covering Letter format typed properly on Bidder(s) Letter Head with Authorized Signatures & Official Seal as prescribed at <i>Annexure-A</i> ?		Yes	Yes	Yes	Yes	Yes
4	Is Technical Proposal Format at Annexure-C typed properly on Bidder(s) Letter Head with Authorized Signatures & Official Seal?	1	Yes	Yes	Yes	Yes	Yes
5	Is Undertaking Format at <i>Annexure-E</i> typed properly on Bidder(s) Letter Head with Authorized Signatures & Official Seal?		Yes	Yes	Yes	Yeş	Yes
6	ls Affidavit format at <i>Annexure-1</i> is properly typed on stamp paper valuing of Rs. 100/-with proper required discipline?	Yes	Yes	Yes	Yes	Yes	Yes
7	Is Bid Requirement Form at Annexure-J properly Filled with bidder(s) complete address with Authorized Signatures & Seal?		Yes	Yes	Yes	Yes	Yes
8	Is Valid General Sales Tax (GST) Certificate(s) provided by the Bidder(s)? (Color copy required).	Yes	Yes	Yes	Yes	Yes	Yes
9	ls Valid National Tax Number (NTN) Certificate(s) provided by the Bidder(s)? (Color Copy required).	Yeş	Yes	Yes	Yes	Yes	Yes
10	Is Valid Sindh Sales Tax (SST) Certificate(s) provided by the Bidder(s)? (Color Copy required).(Not Applicable)	Yes	Yes	No	Yes	No	No
11	Are Professional Tax Certificate(s) for the Current Financia Year 2016-2017 submitted by the Bidder(s) in its Technica Bid(s)? (Color copy required). (Not Applicable)		Yes	Yes	Yes	Yes	Yes
12	Are all documents in Technical Proposal submitted by the Bidder(s) duly Signed with Official Seal & Paginated as well as flagged?		Yes	Yes	Yes	Yes	Yes
13	Is detail of all the documents are mentioned in front of the Index?	Yes	Yes	Yes	Yes	Yes	Yes

MAHESH LAL DODANI Deputy Secretary (ADMN) Excise, Taxation and Narcotics

Control Department (MEMBER)

JAVED AKBAR MANGI Video Conferencing Officer Information, Science & Technology

Department (MEMBER)

MUHAMMAD ISMAIL JOYO

Section Officer (General) Excise, Taxation and Narcotics Control Department

(MEMBER/SECRETARY)

MUSARRAT MOKHTAR Deputy Director

Industries and Commerce

Department (MEMBER)

DR. MUSTAFA SUHAG Additional Secretary (ADMN)

Excise, Taxation and Narcotics

Control Department (CHAIRMAN)

TENDER FOR SUPPLY OF COMPUTER STATIONERY

QUALIFICATION & TECHNICAL EVALUATION CRITERIA

Descri										ption								
SI	o Name of Bidder(s)	NTN and GST Registration	SST Registration from Sindh Revenue Board.	Relevant Experience of Last Five (05) Years.	Experience of Supplying similar product in Govt/Private Institutions with documentary evidence	Capability of work in different locations/areas of Sindh for Supply & support activities.	Clients List	Satisfactory Performance Certificates from Minimum 5 users	Bank Statement	Audited Financial Statements	An Under- taking on Stamp Paper	Company Profile	Documentary Proof about the firm's Strength & Field Expertise.	Purchase/Work Orders/Agree- ments for Supplies of Computer Stationery and Computer Accessories Products	Submitted List of Similar Nature Projects In- Hand	Authorized Representative Certificate	REMARKS	
(1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	
1	M/s. Global Enterprises	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED	
2	M/s. Hayat Computer	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED	
3	M/s. Computer Circle	Yes	No	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED	
4	M/s. Trade Targets	Yes	No	Yes	Yes ¬	Yes	Yes	Yes	Yes	Yes	Yes	Yes "	Yes	Yes	Yes	Yes	QUALIFIED	
5	M/s. Sashun International	Yes	No	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED	
6	M/s. Owais Enterprises	Yes	No	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes	QUALIFIED	

MAHESH LAL DODANI Deputy Secretary (ADMN)

Excise, Taxation and Narcotics Control Department (MEMBER) MUHAMMAD J&MAIL JOYO Section Officer (General) Excise, Taxation and Narcotics Control Department

(MEMBER/SECRETARY)

JAVED AKBAR MANGI

JAVED AKBAR MANGI Video Conferencing Officer Infornation, Science & Technology Department (MEMBER) MUSARIKAT MOKHTAR

Deputy Director
Industries and Commerce
Department
(MEMBER)

DR. MUSTAFA SUHAG

Additional Secretary (ADMN)
Excise, Taxation and Narcotics
Control Department
(CHAIRMAN)



GOVERNMENT OF SINDH EXCISE, TAXATION & NARCOTICS CONTROL DEPARTMENT

Karachi, dated the 27th April, 2017

SUBJECT:

MINUTES OF THE MEETING REGARDING THE OPENING OF TECHNICAL BIDS FOR THE TENDER FOR PROCUREMENT OF COMPUTER STATIONARY FOR THE OFFICES OF GOVERNMENT SINDH EXCISE, TAXATION & NARCOTICS CONTROL DEPARTMENT

Meeting of the Departmental Procurement Committee constituted vide Government of Sindh, Excise, Taxation & Narcotics Control Department's Notification No. SO(G)/(DDO)/ET&NC/C.STATIONARY/2016-17 dated 16th March, 2017 was held on 27th April, 2017 at 03:30 P.M under the Chairmanship of Additional Secretary (ADMN-I), Excise, Taxation and Narcotics Control Department, Government of Sindh, Karachi, in order to undertake the Technical Appraisal of the Bids submitted in response to Tender Notice published in Newspapers.

- 2. The following Members of the Procurement Committee attended the meeting:-
 - 1. Dr. Mustafa Suhag Additional Secretary (ADMN) Excise, Taxation and Narcotics Control'Department

2. Mr. Mahesh Lal Dodani, Deputy Secretary, (ADMN) Excise, Taxation and Narcotics Control Department

3. Mr. Muhammad Ismail Joyo Section Officer General Excise, Taxation and Narcotics Control Department,

4. Mr. Javed Akbar Mangi Video Conferencing Officer Information, Science & Technology Department

5. Mr. Mussarat Mokhtar, Deputy Director Industries and Commerce Department Chairman

Member

Member/Secretary

Member

Member

The Meeting started with the recitation from Holy Quran. The Chairman of the Procurement Committee welcomed the Participants and Procurement Committee Members and requested the participants to introduce themselves and processed further in the matter. The Committee was apprised that besides leading Newspaper, the tender was also hoisted on SPPRA's official website with the SPPRA Serial No. 32572, and the SPPRA I.D will be released after compliance of Rule-50 i.e. furnishing of Original Bid Evaluation Report, Technical Evaluation Report, Financial Evaluation Report, Form of Contract and Letter of Award & Bill of Quantities to the SPPR Authority.

The Committee Members were informed that, in response to the tender advertisement, following Seven (07) firms got the bidding documents issued against a cash of Rs. 2,000/-(Non-Refundable Tender Fee):

Page 1 of 2